Chromosome 01

=
o
S

[l ®
([ 3

©

~

ol
¥

e — O

Linkage Disequilibrium LD (r?)
o o
& g

o
o
S

0e+00 1e+06 2e+06 3e+06 4e+06

Chromosome 04

1.00 eme o ©

Linkage Disequilibrium LD (r?)
o
3

@

o
o
S

0e+00 1le+06 2e+06 3e+06

Chromosome 07

1.00 omse «

-3

0.25

Linkage Disequilibrium LD (r?)
o
3

0.00
0e+00 1le+06 2e+06 3e+06

Chromosome 10

'_\
o
o
|
»

o
~
ol

Linkage Disequilibrium LD (r?)
o
g
O g e

©

le+06  2e+06  3e+06

Chromosome 02 Chromosome 03
1.00 s 1.00 o =
0.75 0.75

0.50 0.50

0.25 0.25

S

0.00 0.00
0 500000 1000000 1500000 0e+00 1e+06 2e+06 3e+06
Chromosome 05 Chromosome 06

1.00 ommew- & @ 1.00 oo
®o

0.75 : 0.75

T

Sign

0.50 s 0.50

0.25 0.25

o K

0.00 0.00 8
0e+00 1e+06 2e+06 0 500000 1000000 1500000
Chromosome 08 Chromosome 09

1.00 omseoe 1.00

0.75 0.75
0.50 0.50
0.25 025 M
0.00 0.00
0e+00 1le+06 2e+06 3e+06 4e+06 0e+00 5e+05 le+06

Chromosome 11

1.00 e oo

0.75

0.50

0.25

0.00

0e+00 1e+06 2e+06 3e+06 4e+06 5e+06
Physical distance



